Mate 4031practice problems

Lackinganyfurtherindication,merementionof a sectionrmeanstsolve all syllabusproblemsrom
thissection”.

§1.1:1(d),7,9.
§1.2:3,5,7,10,12.
§1.3:12,15,17,26,29,33.
§1.5:2,5,7,09.
§2.1:5,7,10.
§2.2:5,6,9,13,18.

For27/9
83.1:1-8,10,12.

For7/10

81.4:(which| omittedabove)all problemdrom syllabus.

§3.2:3(b-d-e-f-g) 5,10 (choosehree),11,13,18,19.For pb 5, notethatin the notationof thetext,
P, isthesetof polynomialsof degredessthanfour.

For14/10

83.3:1,5,7,10(plot), 11 (takethenumberof vectorsto befour),16,17.For16-17:letn = 4.For7,
usethedefinition,notthe Wronskiancriterion(which we did not cover).

Extra:on (—o0,00), letf (x) = v/2, g(x) = cosx, h(x) = sinx. Showthatf (x) — g(x) - h(x) = 0for
infinitely manyvaluesof x, yetf, g, h arelinearlyindependent.

For25/10
83.4.



